MEEG 2003 Quiz #10.m26.073
A frame is loaded as shown. Using

virtual work method, determine (a) LA
the horizontal reaction force A, at  Ski —
- . C D A
the fixed support A, (b) the vertical
reaction force Dy at the hinge sup- 24 kN 4m
port D. (Include the FBD for the 24 ! LOKNYy
entire system and separate VDD’s G E 1o
with strategies for finding A, and All 20 kN-m\:/F -
D,, respectively, in your solution.)
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SU=0: A(450) +8(450) + 6(—450) +20(50) =0
A=-7 A,=TkNe< @
SU =0: D,(656) +24(-350) =0
D,=12 D,=12kNT @
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